Cam Follower with Tapped Lubrication Hole Model CFT

C
B3
Optional specifications Symbol r #do St
Roller guide With cage | No Symbol S _ "
Full rollers V \ BT !
PO Carbon steel | No Symbol NIt it Az
Stainless steel M ¢D irebideoplee =t b g
Sl Without seal | No Symbol
With seal uu = gd Gi
Outer ring  |Cylindrical outer ring| No Symbol =
shape Spherical outer ring R .G
B Bz
B1
Stud Main dimensions
diameter
Outer
QOuter |~ Overall Shoulder
. ring |Threaded :
diameter width length height
f
d Model No. D C G G B B B: Bs Ci S1 dz | Fsmin (MII'I)
6 CFT#6 16 | 11 | M6X1 | 8 |12 | 28 | 16 | — | 0.6 | M6X0.75' | — | 0.3 11
8 CFT8 19 | 11 | MBX125 | 10 | 12 | 32 | 20 | — | 0.6 | M6X0.75* | — | 0.3 13
10 CFT 10 22 | 12 | M0X125| 12 | 13 | 36 | 23 | — | 0.6 | M6X0.75" | — | 0.3 15
10 CFT 10-1 26 | 12 [ M0X125| 12 | 13 | 36 [ 23 | — | 0.6 [ M6X0.75* [ — | 0.3 15
12 CFT 12 30 | 14 |M12X15| 13 |15 [ 40 | 25| 6 |06 | M6x075 | 3 [ 0.6 | 20
12 CFT 12-1 32 | 14 |[M12X15| 13 | 15 [ 40 | 25| 6 |06 | M6X075 | 3 (0.6 | 20
16 CFT 16 35 | 18 |M16X15| 17 |19.5| 52 |325]| 8 | 0.8 3 |06 24
18 CFT 18 40 | 20 [M18X1.5| 19 |21.5]| 58 [36.5] 8 | 0.8 3 1 26
20 CFT 20 52 | 24 |M20X15| 21 |25.5| 66 |40.5| 9 | 0.8 4 1 36
20 CFT 20-1 47 | 24 |[M20X15| 21 |255| 66 [40.5| 9 | 0.8 Re1/8 4 1 36
24 CFT 24 62 | 29 [M24X15| 25 |30.5| 80 [495| 11 | 0.8 (F"?HS) 4 1 40
24 CFT 24-1 72 | 29 |M24X15| 25 |30.5| 80 |49.5| 11 | 0.8 4 1 40
30 CFT 30 80 | 35 |M30X15| 32 | 37 [100| 63 | 15 | 1 4 1 46
30 CFT 30-1 85 | 35 [M30X15| 32 | 37 |100| 63 | 15 | 1 4 1 46
30 CFT 30-2 90 | 35 |M30X15| 32 | 37 [100]| 63 | 15 | 1 4 1 46

Note) For information on accuracy standards, please refer to 119-14.
Those models marked with “# " have a lubrication hole only on the head.

CFT30-1 V M UU R N

Model No.

No symbol: With cage
: Full-roller Typ

|

No symbol: Carbon steel
: Stainless steel

T

No Symbol : No grease nipple
: Dedicated grease nipple included (See 319-39)

No Symbol Cylindrical outer ring

: Spherical outer ring

No symbol: Without seal
: With seal

Note: For accessories, please refer to [119-38.

N19-28 TrAIXK

Download data by searching for the corresponding
model number on the Technical Support site.

https://tech.thk.com




